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— 9% TART JIPOY NP2 Ixom
Here we are discussing a case where he said '’

OVERVIEW

The X7mx concludes that according to 2Xww if the man does not say *? by
1PWYTR she is not NWTIPH, since it is MM PRY 0°7, indicating that XY is
of the opinion that 2°7> N7 R Mmedow PRY 27, Our Mmoo will cite
examples which indicate that SX¥2w maintains 2°7> P07 MM PRY 7.
This contradiction will be resolved by explaining that there are different
levels of Mo PRY 2°7.

— 2057 1911 RY MNYIMN PRY D117 INNYY XN PI01T ¥YN
It seems that the X723 concludes here that according to Y8waw the rule is
that 297° 799997 KD MM PR 297,

MooIn asks:
—99%2NY 99IND 9N (v, 91 097 NN VIIAT NI

And it is astounding! For in the beginning of 2371 noon the mwn states,
‘one who says to his friend one of the following statements -

— 0N 19 DIV 2IRY 1Y DIIN 23IRY 1199 23PN1I 799 2IWIDM 11991 29N
‘T am removed from you; I am separated from you; I am distanced from
you’; or he said ‘I take a vow that I will not eat yours or that I will not

taste yours’ in all these cases it is forbidden for him to eat from his friend.’
— 1519:1 ININY 9N (3,797 ov) NI DY IININPI

And the X723 comments on this 71wn, that PR said, in all these cases of
TAR SIWIDA , TR 21771 or TR 1PmMNn, he is not forbidden to eat from his friend -
— 19 DIV 2IRY T9 YN 2INY TNINIY 1Y

Unless he clearly added and said 7% ®2I8 1K@ or T2 2y SI8w -
— YVUN TN NIPYNYN XYT 759 239799 NIDT RNYVY INN 77019

And the X3 concluded what is the reason that "> 7»n °197% by
themselves do not pose an 779°28 MK, because perhaps the term 7% "197%

means I will not talk with you, but not that I will not eat by you, and similarly the

phrase -
— VNYN TN 1) RWUN NITIAY NIT 7199 1WA

7% s1w99» means I will have no business dealings with you, and -

! See previous W7 X7 71"7 MooMN.
* The x7m3 initially assumed that if he did not say *> by WP it is Mam 1Xw 2°7°. The X713 concludes that
he did say *9, otherwise she would not be nwT1pn; indicating that 2°7° 1177 8D NIMIM PRY 27
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— VNIYN TI%7 TN 772 NININP NIT 2PNIIN

Tan pman means I will not stand within your n¥aR '?. Therefore it is
necessary that the 7711 be clear and say I will not eat by you, and only then is he 70X

79°0KX32. Otherwise since we are not sure what he meant, there will be no 799X 710X
— 3051 1991 NY N9 PRY D1 ININY 1207 XK1Y (3,7 97 0wy 70999

And the X3 there asks, should we say that »X»® maintains WX 277

2575 199015 KD nea?
— D15 19991 RY NN PRY D15 9INT NI 5395 PNSINN 5P INMIVY 5UN)

And the X3 answers that ®X»w interprets the mw» according to '

who maintains 2°7° 317 X® DI PRY 2979, Therefore it is necessary
according to > to add 7% 79 *Rw. This concludes the citation from the X723 there.
— “mmma 159 NPAD NY IINT 9951 NTIN? 5393 PIINNY DI INIDY VINPTN

And since the X723 stated that ®X»w interprets the 7w» according to

“''1, it can be inferred that >x1mw himself does not agree with "= -
— 019 PPMNYT 1D NY2D NON

But rather "Xw maintains that 701 PRY 0°7° are 297, How can our X3
here state that X1 maintains 2°7° 1°1177 R>?!

mooIN anticipates a possible answer, but rejects it:
— *mINa 7% 930 ANNY %39 PNINNT PPN HRINYT WY PN)

And we cannot interpret the X713 to mean that Xy»w establishes the mwn»
according to >''1 (because) [and] PX1w also agrees with >"'.

mooIn rejects this approach:
— N 2299 PNINND RNPIND INMYT NPPNIT INMDY 191 992 9INTH

For since the X3 asks later, and what pushed »Xy2w to establish the

mawn according to °''9, this proves that "X disagrees with *"9, for if 2Xw agrees
with > -
— 1995 %Y 9207 DIVN NN 5399 PPNINM 2P PINT INNIN NIYD INNY
Then what is the question why did X1 force himself and establish the
mwn according to ', it is obvious why, since Y81w agrees with ' -
— 1995 52495 YD 7Y

> If SXmw maintains D7 TN MM PRY o7, then granted that "2 Tn 1T is MMM TRY 27
concerning 77°38 Mo°R, nevertheless there should be an 7%°3% MR (since it is °7° 117), why then does
SR interpret the 71wy that there is an 77798 M0°X only when he clearly states 77 991% *Rw. This proves
that 87w maintains 2°7° 1171 XY and therefore 191 1171 is not sufficient and he must add 7% 92 1R,

* If Sxmw maintains 0°7° M7 X2 then why does the X3 answer that Xw interprets the 73wn according to
*"9, when the & 13 should have said that 5Xww interprets the mwn according to his own view!

> When the X723 says that >3 "0 *pw HXmw it means that HXmw agrees with *" and that is why he
interprets the 71wn according to °"1
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Therefore he establishes the 71wn according to s''. therefore we cannot say
that PX1mw agrees with > -

—°0595 19917 79 DY INT NIN
But rather X1 is certain that 237> 39177 M2 KXW 0°7°. This is in contrast
to our X3 where it states that PX1w maintains 2°7° 117 X?!

mooin offers another proof that XMW maintains 27 1N »"w 07
— DN YD NN NN 291 V) DY 1D (3,79 97 1PV)2 9INT TV

And furthermore the 71w states in %3 noo»n; the essence of the i is the

phrase 27K 2% nan» nX 5777 (you are permitted to all men) -
— 713 YW 1993 NIN INIIN 9359 179 7 11 99IN AT’ 229

“''1 maintains that the phrase of 819 53%% %1715 57 371 (and this [referring to
the v1] shall be for you from me, etc) that is (also part of) the essence of

the wa.
— $19395 930 YNMIWI 1YY 1339 19999

And the 3121 argue with >"1 and 98w (there) agrees with the j33-.

In summation; Mmd0IN question is that from our XM it appears that by 1w17°p where he
does not say ° it is considered mam PRW 27 and therefore it is not a valid PYI7TP
according to PRmw. However, elsewhere 2R maintains that 07 107 Mmom PRY 207
concerning a 711 and by Pv°a. How can we reconcile the two (seemingly) contradictory
views of 2R1mw?!

MooIN answers:
— NP A7 DYUNPNT YYD ¥IWN KT OY 99N XD NYTPN NN 2917 9910 YN

And one can say; that when a man says n@27P» nR 7 and he did not say
"» there is no indication at all that he means that she should become

nwTIpPR to me -
—99%2NY NYN Y1PY VY DINY

® Therefore the Xm3 there asks, since YX1MW disagrees with *"7 (and maintains that 2>7 7 2"w 0°7°), why
does he see fit to interpret the 771wn according to *"".

7" is of the opinion that it must state clearly in the vx that the 3 is being given from the husband to the
wife, otherwise it is Mo XY 2°7, for perhaps someone else is divorcing her, or he is divorcing
someone else. This is the way the nponn is explained in 0>771 noon. In v the issue is on the word 171 (and
this); whether it is necessary to specify that this v3 (this-17) is implementing the divorce.

8 See X"w1mn who explains that in X,10 77 v ) 'on the 71wn states that when the scribes write out the forms
of the 7v°3 (to save time when people need a divorce) they are to leave space to insert the names of the man
and the woman, etc (otherwise it would not be 7aw?). PXmw comments that it is also necessary to leave out
the phrase of 7% 3% N nX »7 (since that is v3 5w 1 and it also has to be written 7aw?). However
XMW does not require that we should leave out the phrase of 121237 "> >7 17; indicating that this is not 191
va 5w, for PXmWw agrees with the 13137 and argues with >"9.
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Because it is customary for a person to be w7p» a woman for his friend -
— 051 19991 RY ININY IND INTI 237 53 595 NN PRY 01
And concerning such 27> which are totally inconclusive as these, "812w
certainly maintains that they are not 2375, Therefore YXw maintains by PP
where he does not say °% (since it is 275 MM PRWY 0°7°), she is not NWTIPH -
— 390 MHNIIM NN D917 INNA JaN
However by this case of 2°97: where he said "21 721 °1971, it is more
NI than the case of Pw17p. Therefore PX1MWw maintains that even though it is 2°7°
mneom 7RY, nevertheless since it is not 923 MM PR (but NXp MM), it is a valid 173
and he is 70K even 777X,
—99%N HYR YN DTN PPRT N1 1D 1PV 20910 2a1MIT NN 12
And similarly by the case of one who writes the drafts of >vsa where
DX maintains that the phrase of *X1 "1 °7 P71 is not crucial, that is
because even if he omits that phrase, it is still n¥p ny2m 2°7 for a person
does not divorce his neighbor’s wife. Everyone understands that the v3 is written
and given from the husband to his wife.

In summation; the view of X1 is by 223 Mo PXw 0> (as in PYITP where he did not
say °?), it is @7 171 X (and there is no PYYTP), however by ano Mo PRW 2°7 (as in
the case of *17712 or by 70 [concerning the phrase of X1°n 131 171]) there we maintain that
7 P

mooIn cites a Xn) which seems to contradict the above mentioned view of nmooin that
OX1AW maintains 2°7° 70 2"Y 007
— 997 DY 9N RAN 99INN Y0907 0990 V) (3,291 921 HIDN V2 N

? It appears from this statement that Moo considers the case of Pw1T°p where he did not say 9, as PXw 2°7
595 mom. This would seem to be in contradiction to the previous W7 &7 7"7 moown. There Moo asked
that the X3 could have resolved the contradiction between 1Pw17°p and 7°11 by stating that 7°11 is not a case
of mmom XY 0°7° (intimating that it is 927 Mmow PRY 0°7°) and therefore it is not valid; indicating that by
TP it is (a regular) MM PRY 7. However here n190n maintains the PP is also 595 Minom PR, so
it is the same as 7°12. How did m»oin expect to resolve the contradiction?! The *"12 answers that it is
necessary to add a fourth category, which is that it is not even 273 m*>1 pXw 0°7°. When miooin asked that
we can resolve the contradiction; M50 claimed that if 1195 92w °11 PX it is not even 993 MM PRY 27,
since the possibilities of 7°11 and n°1vn are equal. However by 1217°p even though it is 995 mm»om Pre o7,
nevertheless it is still considered (%3 m*2w 7Xw) 2>7° and not like 7°11 which is not even 0°7°. There are
therefore four categories: 1. mm®>m o°71° (when a 7711 is 1°19% 12w [according to the 090 w° mentioned
shortly in this m»0In]), where everyone agrees that 7> 1"; 2. n°om RY 2°7° (like 771 °17711) where there
is the nponn between 1127 °"1 and PRXw agrees with the 1327 that o> ;3. 993 mmowm prw o7 (by
TR without °% or 1195 1219 7°11 PR [according to the R31pon of the previous NMooIN), where everyone agrees
that 0>7° 171 X?; 4. The category of "7 R? MMM PRW 0°7° 12°0% (which is 1°19% 72w 7°11 X according to the
X>wp of the previous nvoIN), which certainly is *7 717 R (since it is a wnn 2pwi Poo).
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However in the beginning of =9°11 noon there are texts that read as

follows: the wn states, if one says X7X he is a 971 -
— 19399 921¥ 97 DAY NI INMY 9N

bX»w commented on the 71w , and this law is valid if a 2771 was passing

in front of him when he said X7X -
— D1 1NN NY NI PRY 031 INIY 92077 N1IDYY 9N N7

And the X723 there says, does that mean that ®X1»w maintains R 277

Q7% 797 KD NI (since he requires a 35% 121w 9°1)? The X3 replies, indeed -
— 937113) NN DT> N 139D 92y 991 95 95N DIVN PN

It is so, that PX1W maintains 2°7 P17 R, therefore when a =71 is 1M15% "2w

it is N0 297° and the 771 is valid -
— 5350 K9Y MIN29I PRY DT %1 19399 92)Y 951 PN YaN

However if there is no 1°15% =221p 2913, it is N> PRY 297° and the 771 is
not valid. According to these texts YXw maintains 2> 7 82 Mmam prw 7.

mooIN cites an alternate X073 there which supports MdoIN view:
— D19 1991 X NN PRY D ININY 920P NI YD9)7T 02990 NON)

However there are texts which read differently. The X723 comments on
s™R1w qualifier, that he is a 7°11 only when 1°19% 22w 7°13, and asks does this

mean that X1 maintains 2°7° 19977 KD Do PRY 2979 -
— HINDN Y95 NN PRY D31 1917 19395 929 3WN)

And the X 1) answers it is not necessarily so; ?XW can maintain 0°7° "7,
however if a 7°11 is 17159 22w it is considered at least as ny o PRY 2°7°

and therefore the m°111s 717 -
2591 N9 7IN291 PRY 1959N 19395 931Y PN YaN

However if there is no °15% =221v 11 then it is not even NMmsm PRY o7
and therefore the M is not 1.1

SUMMARY
XMWY maintains that 2°7> P71 oo MMM PRY 7. This explains why by

' This X071 would seemingly coincide with the view of n20w1n answer in the previous > X7 7"7, that X
1°19% 92w 711 is considered NI PRY 0°7° (but not that it is not even M*>% PRW 2°7° as NHOIN maintained
there in the question). See following footnote # 12. See ‘Thinking it over # 2.

" This would seemingly contradict this which Mmoo taught previously the Xww (argues with "3 and)
maintains 2°7 77 n"w 0°7°. The following 0°790 N°X resolves this contradiction.

"2 This X073 would seemingly coincide with the question in the previous W X7 71"7 M0, See previous
footnote # 10.

" It would seem then that when x99 21 asked o7 77 "W ORI 7207 X he meant (not ono A"w but
rather) Py ,593 n"wo.
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71 1771 he considers it 2°7° and similarly by vi it is not necessary to write
R 121 17, since it is aNO MMM PRY 2°7°. However by 975 mmom Prw o7
as in the case of 1W17°p where he does not say *7 then PX1W agrees that X5
0°7> 111 and she is not nwTPn. The NIRDTA in 711 argue whether YXmw (who
rules that XX is a 711 if 1°19% 9219 7°11) maintains 2°7 P17 82 2"w° (and N
PIDY T2W is MM 070 and PIO% MW PR is [aN0] MM TRY 2°7°) or PR
maintains 2°7° 17 »"w° (and 1°199 72 11 iS [ano] mmom PRY 27 and PR
%199 72 111 is not even NP PPRW 2°7° [or 970 Mo PRY 2°7°]).

THINKING IT OVER

1. According to the °0737 2190 ¥ (who say that PX7w maintains 17 X7 2"w»
0>7°) how will they explain the M 23 concerning 2°771 and "%’ where N1©OIN
showed that YX1W maintains 2°7° 17 n"w°?

2. Tt appears that the conclusion of our Mm»oIn is that YXWw maintains that
27> 1171 n"w° and the case of 1°19% 721 711 PX is a case of not even n"w> and
therefore the m7°11 is not 9n. However the conclusion of the previous mson
seems to be that 1°19% 92 7°11 PX is a [regular] case of MM PRY o, 1
There seems to be some contradiction here between the two nvoIN.

' See footnote # 10 (and # 12).
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